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WEST BENGAL STATE COUNCIL OF VOCATIONAL EDUCATION & TRAINING
Higher Secondary (Vocational) Examination, 2010

CLASS XII
(For Regular and Casual Candidates)

PC MAINTENANCE
Time Allowed: 2 Hours Full Marks: 50

[Answers can be written in English or Bengali or Hindi or Nepali only.)
Answer Question No. 1 and any four from the rest.

State whether the following statements are “True’ or ‘False’: 10x1=10
(a) A printeris usually connected with serial port of a PC.
(b} A keyboard in PC sends data serially.
(¢) Resolution of Monitor is related with Mouse.
(d) The full form of SMPS is Switch Mode Power Supply.
(e} The boot sector is the last sector on the disk.
(f) RAM is a volatile memory.
{g) POST stands for Power On Self Test.
(h) DMA stands for Dynamic Memory Access.
(i) The IDE connector for HDD is 40 pin.
(i) There is no difference between VGA monitor and SVGA monitor.

(a) Write the full form of SMPS.
(b) What are the functions of SMPS in a computer? Write the different output voltage of SMPS.

24{4+4)=10
(a) Write the name of two standard input device.
(b) Explain the basic operation of a keyboard.
{(c) Explain how the keyboard is interfaced with the computer. 2+4-+4=10
Explain how you install different components into mother boards. 10
(a) Write the sequential steps to interface and configure a Hard disk into your PC.
(b) What is expansion slot? 8+2=10
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(2)
(a) What is port? Explain different type of ports.
(b) What is BUS? What is BIOS? 2+4-44=10)
(a) Explain the different types of floppy disk drives.
(b) How will you install a new floppy drive and configure it? Explain each steps. 446=10

(a) What is partitioning of a hard disk drive? Discuss.
(by How the information are read or written into CD's?
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